

On initial value problem in theory of the second order differential equations

Valerii Dryuma*, Maxim Pavlov

Abstract. We consider the properties of the second order nonlinear differential equations $b'' = g(a, b, b')$ with the function $g(a, b, b' = c)$ satisfying the following nonlinear partial differential equation

$$g_{aacc} + 2cg_{abcc} + 2gg_{aacc} + c^2g_{bbcc} + 2cgg_{bccc} + g^2g_{cccc} + (g_a + cg_b)g_{ccc} - 4g_{abc} - 4cg_{bbc} - cg_c g_{bcc} - 3gg_{bcc} - g_c g_{acc} + 4g_c g_{bc} - 3g_b g_{cc} + 6g_{bb} = 0.$$

Any equation $b'' = g(a, b, b')$ with this condition on the function $g(a, b, b')$ has the General Integral $F(a, b, x, y) = 0$ shared with General Integral of the second order ODE's $y'' = f(x, y, y')$ with the condition $\frac{\partial^4 f}{\partial y'^4} = 0$ on the function $f(x, y, y')$ or $y'' + a_1(x, y)y'^3 + 3a_2(x, y)y'^2 + 3a_3(x, y)y' + a_4(x, y) = 0$ with some coefficients $a_i(x, y)$.

Mathematics subject classification: 34C14, 35K35.

Keywords and phrases: dual equation, space of linear elements, projective connection.

1 Introduction

The relation between the equations in the form

$$y'' + a_1(x, y)y^2 + 3a_3(x, y)y' + a_4(x, y) = 0 \quad (1)$$

and

$$b'' = g(a, b, b') \quad (2)$$

with the function $g(a, b, b')$ satisfying the p.d.e

$$g_{aacc} + 2cg_{abcc} + 2gg_{aacc} + c^2g_{bbcc} + 2cgg_{bccc} + g^2g_{cccc} + (g_a + cg_b)g_{ccc} - 4g_{abc} - 4cg_{bbc} - cg_c g_{bcc} - 3gg_{bcc} - g_c g_{acc} + 4g_c g_{bc} - 3g_b g_{cc} + 6g_{bb} = 0. \quad (3)$$

from geometrical point of view was studied by E. Cartan [1].

In fact, according to the expressions for curvature of the space of linear elements (x, y, y') connected with equation (1)

$$\underline{\Omega_2^1 = a[\omega^2 \wedge \omega_1^2], \quad \Omega_1^0 = b[\omega^1 \wedge \omega^2], \quad \Omega_2^0 = h[\omega^1 \wedge \omega^2] + k[\omega^2 \wedge \omega_1^2]},$$

©2003 V. Dryuma, M. Pavlov

*The first author was supported partially by INTAS-93-0166 and by the Grant no. 01.005C (6.03.2001) of the Supreme Council on Science and Technological Development of the Republic of Moldova. Valerii Dryuma is grateful to the Physical Department of Lecce University for support and kind hospitality

where

$$a = -\frac{1}{6} \frac{\partial^4 f}{\partial y'^4}, \quad h = \frac{\partial b}{\partial y'}, \quad k = -\frac{\partial \mu}{\partial y'} - \frac{1}{6} \frac{\partial^2 f}{\partial^2 y'} \frac{\partial^3 f}{\partial^3 y'},$$

and

$$\begin{aligned} 6b &= f_{xx'y'y'} + 2y' f_{xyy'y'} + 2f f_{xy'y'y'} + y'^2 f_{yyy'y'} + 2y' f f_{yy'y'y'} \\ &+ f^2 f_{y'y'y'y'} + (f_x + y' f_y) f_{y'y'y'} - 4f_{xyy'} - 4y' f_{yyy'} - y' f_y f_{yy'y'} \\ &- 3f f_{yy'y'} - f_y f_{xy'y'} + 4f_{y'y'y'} - 3f_y f_{y'y'} + 6f_{yy} \end{aligned}$$

two types of equations by a natural way are evolved: the first type from the condition $a = 0$ and the second type from the condition $b = 0$.

The first condition $a = 0$ determines the equation in form (1) and the second condition leads to the equation (2) where the function $g(a, b, b')$ satisfies the above p.d.e. (3).

From the elementary point of view the relation between both equations (1) and (2) is a result of special properties of their General Integral $F(x, y, a, b) = 0$. So we have the following fundamental diagram:

$$\begin{array}{ccc} & & F(x, y, a, b) = 0 \\ & \swarrow \nearrow & \\ y'' = f(x, y, y') & & b'' = g(a, b, b') \\ \updownarrow & & \updownarrow \\ M^3(x, y, y') & \iff & N^3(a, b, b') \end{array}$$

which presents the General Integral $F(x, y, a, b) = 0$ (as some 3-dim orbifold) in the form of the twice nontrivial fibre bundles on circles over corresponding surfaces:

$$M^3(x, y, y') = U^2(x, y) \times S^1 \quad \text{and} \quad N^3(a, b, b') = V^2(a, b) \times S^1.$$

2 Examples of solutions of dual equation

Let us consider the solutions of equation (3).

It has many types of reductions and the simplest of them are

$$g = c^\alpha \omega [ac^{\alpha-1}], \quad g = c^\alpha \omega [bc^{\alpha-2}], \quad g = c^\alpha \omega [ac^{\alpha-1}, bc^{\alpha-2}],$$

$$g = a^{-\alpha} \omega [ca^{\alpha-1}], \quad g = b^{1-2\alpha} \omega [cb^{\alpha-1}], \quad g = a^{-1} \omega (c - b/a),$$

$$g = a^{-3} \omega [b/a, b - ac], \quad g = a^{\beta/\alpha-2} \omega [b^\alpha/a^\beta, c^\alpha/a^{\beta-\alpha}].$$

For any type of reduction we can write the corresponding equation (2) and then integrate it.

For example, for the function $g = a^{-\gamma} A(ca^{\gamma-1})$ we get the equation

$$[A + (\gamma - 1)\xi]^2 A^{IV} + 3(\gamma - 2)[A + (\gamma - 1)\xi] A^{III} + (2 - \gamma) A^I A^{II} + (\gamma^2 - 5\gamma + 6) A^{II} = 0.$$

One solution of this equation is

$$A = (2 - \gamma)[\xi(1 + \xi^2) + (1 + \xi^2)^{3/2}] + (1 - \gamma)\xi.$$

This solution corresponds to the equation

$$b'' = \frac{1}{a}[b'(1 + b'^2) + (1 + b'^2)^{3/2}]$$

with the General Integral

$$F(x, y, a, b) = (y + b)^2 + a^2 - 2ax = 0.$$

The dual equation has the form

$$y'' = -\frac{1}{2x}(y'^3 + y').$$

Remark that the first examples of solutions of equation (3) were obtained in [3-6].

Proposition 1. *The equation (3) can be represented in the form*

$$\begin{aligned} g_{ac} + gg_{cc} - g_c^2/2 + cg_{bc} - 2g_b &= h(a, b, c), \\ h_{ac} + gh_{cc} - g_ch_c + ch_{bc} - 3h_b &= 0. \end{aligned} \quad (4)$$

From this it follows that there exists the class of equations (2) with the function $g(a, b, c)$ satisfying the condition

$$g_{ac} + gg_{cc} - g_c^2/2 + cg_{bc} - 2g_b = 0 \quad (5)$$

which is easier solved than equation (3).

Here we present some solutions of the equation (5) as functions depending on two variables $g = g(a, c)$

In the case when $g = g(a, c)$ and $h = 0$ we have the equation

$$g_{ac} + gg_{cc} - \frac{1}{2}g_c^2 = 0.$$

To integrate this equation we can transform it into a more convenient form using the variable $g_c = f(a, c)$. Then one obtains:

$$2f_c f_{ac} + (f^2 - 2f_a) f_{cc} = 0.$$

After the Legendre transformation we obtain the equation:

$$[(\xi\omega_\xi + \eta\omega_\eta - \omega)^2 - 2\xi]\omega_{\xi\xi} - 2\eta\omega_{\xi\eta} = 0.$$

Using the new variable $\xi\omega_\xi + \eta\omega_\eta - \omega = R$ we have the new equation for R :

$$R_\xi - \frac{1}{2}R^2\omega_{\xi\xi} = 0$$

and the following relations:

$$\omega_\eta = \frac{\omega}{\eta} + \frac{R}{\eta} + \frac{2\xi}{\eta R} - \frac{\xi A(\eta)}{\eta}, \quad \omega_\xi = -\frac{2}{R} + A(\eta)$$

with an arbitrary function $A(\eta)$. From the conditions of compatibility it follows:

$$2\eta R_\eta + R_\xi(2\xi - R^2) + \eta A_\eta R^2 = 0.$$

Integrating this equation we can obtain general integral.

In the particular case $A = \frac{1}{\eta}$ we have:

$$\frac{R^2}{R - 2\eta} = -\frac{\xi}{\eta} + \Phi\left(\frac{1}{\eta} - \frac{2}{R}\right).$$

By the condition $A = 0$ we obtain the equation $2\eta R_\eta + (2\xi - R^2)R_\xi = 0$, which has the solution:

$$R^2 = 2\xi + 2\eta\Phi(R),$$

where $\Phi(R)$ is an arbitrary function.

After choosing the function $\Phi(R)$ we can find the function ω and then using the inverse Legendre transformation, the function g which determines dual equation $b'' = g(a, c)$.

Remark 1. *The solutions of the equations of type*

$$u_{xy} = uu_{xx} + \varepsilon u_x^2 \quad (6)$$

were constructed in [7]. In the article [8] it was showed that they can be presented in the form

$$u = B'(y) + \int [A(z) - \varepsilon y]^{(1-\varepsilon)/\varepsilon} dz,$$

$$x = -B(y) + \int [A(z) - \varepsilon y]^{1/\varepsilon} dz.$$

To integrate the above equations we can apply the parametric representation

$$u = A(a) + U(a, \tau), \quad y = B(a) + V(a, \tau). \quad (7)$$

Using the formulas

$$u_y = \frac{u_\tau}{y_\tau}, \quad u_x = u_x + u_\tau \tau_x$$

we get after the substitution in (6) the conditions

$$A(x) = \frac{dB}{dx} \quad \text{and} \quad U_{x\tau} - \left(\frac{V_x U_\tau}{V_\tau}\right)_\tau + U \left(\frac{U_\tau}{V_\tau}\right)_\tau - \frac{1}{2} \frac{U_\tau^2}{V_\tau} = 0.$$

So we get one equation for two functions $U(x, \tau)$ and $V(x, \tau)$. Any solution of this equation determines the solution of equation (6).

Let us consider some examples.

$$A = B = 0, \quad U = 2\tau - \frac{x\tau^2}{2}, \quad V = x\tau - 2\ln(\tau).$$

Using the representation $U = \tau\omega_\tau - \omega$, $V = \omega_\tau$ it is possible to obtain other solutions of this equation.

The equation $g_{ac} = gg_{cc} - g_c^2/2$ can be integrated in explicit form and the solutions are

$$g = -H'(a) + \int \frac{dz}{[A(z) + \frac{1}{2}a]^3}, \quad c = H(a) + \int \frac{dz}{[A(z) + \frac{1}{2}a]^2},$$

with arbitrary functions $H(a)$ and $A(z)$.

In fact, for $A(z) = z$ we have

$$g = -H'(a) + \int \frac{dz}{[z + \frac{1}{2}a]^3} = -H'(a) - \frac{1}{2} \frac{1}{[z + \frac{1}{2}a]^2}$$

and

$$c = H(a) + \int \frac{dz}{[z + \frac{1}{2}a]^2} = H(a) - \frac{1}{[z + \frac{1}{2}a]^3}.$$

As result we get the solution.

Remark 2. In general case the equation $g_{acc} + gg_{ccc} = 0$ is equivalent to the equation

$$g_{ac} + gg_{cc} - \frac{1}{2}g_c^2 = B(a).$$

It can be integrated with the help of Legendre transformation as in the previous case.

Really, we get

$$[(\xi\omega_\xi + \eta\omega_\eta - \omega)^2 - 2\xi + 2B(\omega_\xi)]\omega_{\xi\xi} - 2\eta\omega_{\xi\eta} = 0$$

and the relation

$$2R_\xi = [R^2 + 2B(\omega_\xi)]\omega_{\xi\xi}.$$

It can be written in the form

$$2\frac{dR}{d\Omega} = R^2 + 2B(\Omega)$$

using the notation $\omega_\xi = \Omega$.

Proposition 2. In the case $h \neq 0$ and $g = g(a, c)$ the system (3) is equivalent to the equation

$$\Theta_a \left(\frac{\Theta_a}{\Theta_c} \right)_{ccc} - \Theta_c \left(\frac{\Theta_a}{\Theta_c} \right)_{acc} = 1 \quad (8)$$

where

$$g = -\frac{\Theta_a}{\Theta_c}, \quad h_c = \frac{1}{\Theta_c}.$$

To integrate this equation we use the presentation $c = \Omega(\Theta, a)$. From the relations

$$1 = \Omega_{\Theta}\Theta_c, \quad 0 = \Omega_{\Theta}\Theta_a + \Omega_c$$

we get

$$\Theta_c = \frac{1}{\Omega_{\Theta}}, \quad \Theta_a = -\frac{\Omega_a}{\Omega_{\Theta}} \quad \text{and} \quad \frac{\Omega_a}{\Omega_{\Theta}}(\Omega_a)_{ccc} + \frac{1}{\Omega_{\Theta}}(\Omega_a)_{cca} = 1.$$

Now we get

$$\begin{aligned} \Omega_{ac} &= \frac{\Omega_a\Theta}{\Omega_{\Theta}} = (\ln \Omega_{\Theta})_a = K, & \Omega_{acc} &= \frac{K_{\Theta}}{\Omega_{\Theta}}, \\ \Omega_{acc} &= \left(\frac{K_{\Theta}}{\Omega_{\Theta}}\right)_{\Theta} \frac{1}{\Omega_{\Theta}}, & (\Omega_{acc})_a &= \left(\frac{K_{\Theta}}{\Omega_{\Theta}}\right)_a - \frac{\Omega_a}{\Omega_{\Theta}} \left(\frac{K_{\Theta}}{\Omega_{\Theta}}\right)_{\Theta}. \end{aligned}$$

As a result the equation (8) takes the form

$$\left[\frac{(\ln \Omega_{\Theta})_{a\Theta}}{\Omega_{\Theta}} \right]_a = \Omega_{\Theta} \quad (9)$$

and can be integrated by the substitution $\Omega(\Theta, a) = \Lambda_{\Theta}$. So, we get the equation

$$\Lambda_{\Theta\Theta} = \frac{1}{6}\Lambda_{\Theta}^3 + \alpha(\Theta)\Lambda_{\Theta}^2 + \beta(\Theta)\Lambda(\Theta) + \gamma(\Theta) \quad (10)$$

with arbitrary coefficients α, β, γ .

Let us consider the following examples.

1. $\alpha = \beta = \gamma = 0$

The solution of equation (10) is

$$\Lambda = A(a) - 6\sqrt{B(a) - \frac{1}{3}\Theta}$$

and we get

$$c = A' - \frac{3B'}{\sqrt{B - \frac{1}{3}\Theta}} \quad \text{or} \quad \Theta = 3B - 27\frac{B'^2}{(c - A')^2}.$$

This solution corresponds to the equation

$$b'' = -\frac{\Theta_a}{\Theta_c} = -\frac{1}{18B'}b'^3 + \frac{A'}{6B'}b'^2 + \left(\frac{B''}{B'} - \frac{A'^2}{6B'}\right)b' + A'' + \frac{A'^3}{18B'} - \frac{A'B''}{B'}$$

cubical in the first derivative b' with arbitrary coefficients $A(a), B(a)$. This equation is equivalent to the equation $b'' = 0$ under a point transformation.

In fact, from the formulas

$$L_1 = \frac{\partial}{\partial y}(a_{4y} + 3a_{2a_4}) - \frac{\partial}{\partial x}(2a_{3y} - a_{2x} + a_{1a_4}) - 3a_3(2a_{3y} - a_{2x}) - a_4a_{1x},$$

$$L_2 = \frac{\partial}{\partial x}(a_{1x} - 3a_1a_3) + \frac{\partial}{\partial x}(a_{3y} - 2a_{2x} + a_1a_4) - 3a_2(a_{3y} - 2a_{2x}) + a_1a_{4y}$$

which determine the components of projective curvature of the space of linear elements for the equation in the form

$$y'' + a_1(x, y)y'^3 + 3a_2(x, y)y'^2 + 3a_3(x, y)y' + a_4(x, y) = 0$$

we have

$$a_1(x, y) = \frac{1}{18B'}, \quad a_2(x, y) = -\frac{A'}{18B'}, \quad a_3(x, y) = \frac{A'^2}{18B'} - \frac{B''}{3B'},$$

$$a_4(x, y) = \frac{A'B''}{B'} - \frac{A'^3}{18B'} - A''$$

and conditions $L_1 = 0$, $L_2 = 0$ hold.

This means that our equation determines a projective flat structure in the space of elements (x, y, y') .

Remark 3. *The conditions $L_1 = 0$, $L_2 = 0$ correspond to the solutions of the equation (3) in the form*

$$g(a, b, b') = A(a, b)b'^3 + 3B(a, b)b'^2 + 3C(a, b)b' + D(a, b).$$

In general case the equation (2) with condition (3) determines the 3-dimensional Einstein-Weyl geometry in the space of linear elements (a, b, b') .

For more general classes of the form-invariant equations the notion of dual equation is introduced by analogous way.

For example, for the form-invariant equation of the type

$$P_n(b')b'' - P_{n+3}(b') = 0,$$

where $P_n(b')$ are the polynomials of degree n in b' with coefficients depending on the variables a, b , the dual equation $b'' = g(a, b, b')$ has the right-hand side $g(a, b, b')$ in the form [9]

$$\begin{vmatrix} \psi_{n+4} & \psi_{n+3} & \dots & \psi_4 \\ \psi_{n+5} & \psi_{n+4} & \dots & \psi_5 \\ \cdot & \cdot & \dots & \cdot \\ \psi_{2n+4} & \psi_{2n+3} & \dots & \psi_{n+4} \end{vmatrix} = 0,$$

where the functions ψ_i are determined with the help of the relations

$$4!\psi_4 = -\frac{d^2}{da^2}g_{cc} + 4\frac{d}{da}g_{bc} - g_c(4g_{bc} - \frac{d}{da}g_{cc}) + 3g_b g_{cc} - 6g_{bb},$$

$$i\psi_i = \frac{d}{da}\psi_{i-1} - (i-3)g_c\psi_{i-1} + (i-5)g_b\psi_{i-2}, \quad i > 4.$$

For example, for the equation $2yy'' - y'^4 - y'^2 = 0$ with the solution

$$x = a(t + \sin t) + b, \quad y = a(1 - \cos t)$$

we have the dual equation $b'' = -\tan(b'/2)/a$.

According to the above formulas for $n = 1$ we get

$$4!\psi_4 = \frac{3}{2a^3} \tan \frac{c}{2} (1 + \tan^2 \frac{c}{2})^3, \quad 5!\psi_5 = -\frac{15}{4a^4} \tan \frac{c}{2} (1 + \tan^2 \frac{c}{2})^4,$$

$$6!\psi_6 = \frac{90}{8a^5} \tan \frac{c}{2} (1 + \tan^2 \frac{c}{2})^5,$$

and the relation

$$\psi_5^2 - \psi_4\psi_6 = 0$$

is satisfied.

References

- [1] E. CARTAN, *Sur les variétés à connexion projective*. Bulletin de la Société Mathématique de France **52**, 205 - 241 (1924).
- [2] E. CARTAN, *Sur une classe d'espace de Weyl*. Ann. Sc. Ec. Normal Supér., 1943, **3e**, ser. 60, 1 - 16, .
- [3] V. DRYUMA, *On Geometry of the second order differential equations*. Proceedings of Conference Nonlinear Phenomena, ed. K.V. Frolov, Moscow, Nauka, 1991, 41 - 48.
- [4] V. DRYUMA, *Projective duality in theory of the second order differential equations*. Mathematical Researches, Kishinev, Stiintsa, 1990, v.112, 93 - 103.
- [5] V. DRYUMA, *Geometrical properties of multidimensional differential equations and the Finsler metrics of dynamical systems*. Theoretical and Mathematical Physics, Moscow, Nauka, 1994, v.99, no.2, 241-249.
- [6] V. DRYUMA, *Geometrical properties of nonlinear dynamical systems*. Proceedings of the First Workshop on Nonlinear Physics, Le Sirenuse, Gallipoli (Lecce), Italy, June 29-July 7, 1995, ed. E. Alfinito, M.Boiti, L. Martina and F. Pempinelli, World Scientific, Singapore, 1996, 83 - 93.
- [7] CALOGERO F., *A solvable nonlinear wave equation*. Studies in Applied Mathematics, 1984, **LXX**, no. 3, 189 - 199.
- [8] PAVLOV M., *The Calogero equation and Liouville type equations*. Theoretical and Mathematical Physics, 2001 **128**, no. 1, 927 - 932.
- [9] KOPPISCH A., *Zur Invariantentheorie der gewöhnlichen Differentialgleichung zweiter Ordnung*. Inaugural-Dissertation, Leipzig, 1905, 1-30.

Valerii Dryuma
 Institute of Mathematics and Computer Science,
 Academy of Sciences of Moldova, 5 Academiei str.,
 Chişinău, MD-2028, Republic of Moldova
 e-mail: valery@gala.moldova.su

Received November 20, 2002

Maxim Pavlov
 Landau ITP, RAS, Kosygina 2, Moscow, Russia
 e-mail: maxim.pavlov@mtu-net.ru